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A Dynamic study of watt(l1)bar
mechanism and double watt(11) linked by
two joints

Abstract

Watt(l1) machine of the second model can be

considered as an important machine that has special
importance in the field of mechanical engineering and most
important in design engineering.

This paper introduces a dynamic study through two

ways ( kKinematic energy theory and kinematic
momentum theory ) for watt(l1) machine and the resultant
machines of merging two-watt (I1) machines, which
responding to the third model .

Through which we achieved the same results by

getting one differential equation ,which in turn
corresponds with the existance of one free parameter that
determines the movement of result machine.

The importance of this study consists in obtaining more
production and less time .

Key words :

link two joints -Elastic Hinge-Movement-watt(I1) bar mechanism.
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+ b(R3y + R4y + Rsy + Rey) + c(Ryy + Rsy + Rgy) + d(Rsy
+ R6y) + eRGy
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